MATH 2260 Calculus I1 Name: /4|,
Eric Perkerson Date: July 21, 2015

Practice Quiz No. 5

Show all of your work, label your answers clearly, and do not use a calculator.

Problem 1 What are the Taylor series for cos(z), sin(z), and e* (You do not need to
show work for this if you have them memorized).
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Problem 2 Compute the Taylor polynomial of degree 3 of f(z) = 522 + 6z + 2 + €*
centered at a = 0.
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Problem 3 Compute the Taylor polynomial of degree 4 of f(z) = (522 + 6z + 2)(e%)
centered at a = 0.
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Problem 5 Determine the values of x for which the Taylor series of f(z) = ﬁlz—a;
converges, using a = 0.

s p((c
Z ___é%\ Xk

=6

bL/ &,ZA’% /(,uu;voo 5 g;.-—:_(/ ol
N VQ?L [-2d<(

{ = (”zﬂk =

! S - oo
Pro z[em% Determine the VIR of = for which the series e ﬁ) Comtyy

5 .




Problem 7 What’s the best bound you can find on the error of the polynomial 1 + =
compared with /1 + z7 =k \ 1 =
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Problem 8 Find the Taylor series for
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Problem 9 Use series to find the limit:
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Problem 10 Use series to find the limit:
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